Instruction Manual sunJc
)< | sxB-05NRI @

NTREMEEMENARERENRS, WV EARE.
AT IERRE BRI,

HTREBEEFTHFR

A\ WARNING

*ERAEBEIRT. BB, SERENE. B, KRITE. FEEBIERASATE.
* FRIEARMEIK, FRESIRSHIFAESE. M. XK.

* B mEE B RSB RIREIR, BHE. A, RIS,
*ROREREE. FmEE. ETSmEAEERIE.

* WP RRRF=AEIR Xee, WVERRIIZEER. MARRSR3ER.

¥ RS EEEREE T RSN ARE R, WK, RARSEIFREERES
HFERARFERIOES. RANRRENHFREEESHN. BEERERK
REIFRSIOE. RIRAKIRIEER. NRBSENESRIREREARE.

* BAEREZ BRI R, R RREN M,

* WA T FRACTORIER). SEFRRTL R, BA0E. ARE. CRAGRTREM.

© caution

* BEEEEIIRHESRE Output CableN. SSEIRMFMIALESSER.
* EERIRAIEARIREDR. EEEES R RN SR RiE R E R ER SRR,
* & CableiBHIAFMN [R477i%] BIMER. EEEHRNSRENEmNSEER
ATaEH.
* P mBIERD CableBHIEMITTRENL. BER. RIREAERSABRIRN KRR,
BEE. KRETRTEEE.
* BAEEENAN. BPEREMRR e RiErSgER.
* BAEEREEEIEER) ZINTER. FRiEiaSgER.
* {RJ& Bar Soft X-Ray lonizerfd—EREERIE. BREGIERERENREZERIMNMINE
B, BOEERTAEZETRAKINS)HERL ERERUHEREANE.,

@ il Package A&

> F=mEb
FEERAY PackageBEHN FAIEC .

Bar Soft X-Ray lonizer
SXB-05NRI-# %% %-%
Tea

XRTESHE SXB - O5NRI - **** - *

Bar || EEBE|| Bar || Tube
ez BB || KE || 8E

Bl : SXB - O5NRI - 1200 - 4

02

> 1BINEYF=5 Option
BEARF=miapk ST B S e b ThEE AT LA SEAN FAYIIE .

< TJEHABIER(HAGRE > <Middle Bracket> <Boost Module>
* Tube * Middle Bracket * Boost Module + Qutput Cable
SXB-05NRI-T SBR-XB-1-001 SXB-BM SOC-XN-6-001

10m/ lea

SEMIRER
» Bar Soft X-Ray lonizer (SXB-05NRI Series)

e @ Side Bracket
Controller Connector EREIHAAEER Bracket,
SEgzEEEn ¢y
(Controller Unit) :

Soft X-Rayh§12R

et O, © s
Xk, ERFRIFFER
BEFLER (+)lonfl (-)lon;
i H— IR,
Inlet - Air Tube Connection Port @-:-=---+:

o
Outlet - Air Tube Connection Port
£CDA(Clean Dry AinaiN2HEHERS,

2CDA(Clean Dry AinagN2ftREss .

Indicator Light N
FRIEFNMEEREENEREE LED,

P RAEERESEAE LED,
O RoN/ALARM/OVERTIME | 1 i) R EATERERE R,

ZISHRERZ R BRERAIE,
BEEGREERRIT.

» Boost Module (SXB-BM) Option
Mounting Bracket
Controller Connector Eiﬁg:ﬁﬁ FEERY Bracket.

S mz it : Soft X-Ray lonizer Connector
(Controller Unit) iR Soft X-Ray lonizer

EEERE T O, FH2HIREAY Connector,
4 °
e eeereeeed) > DO S

X IR

Controller  |seseeseees (? .................... (? ...... Bar Soft X-ray lonizer

Output Cable Max. 10M Output Cable Max. 10M

O ZELREE
» ifiiA%EE Bar Soft X-Ray lonizer {4
ERARSREN TRERM.

B R 1 FEREEENZRYI
B REENEEGZEREEEY B EERBEHERELEE
B EEMBRERRR

03

» Bar Soft X-Ray lonizer &%

BFRERiE
TEHRSLER M4 BoltkEEMNEEEMPEEEE TR AR,
PRI, 1R, RANRIERSEEE. Bk
{ Side Bracket Side Bracket
- : i
f M4 Bolt M4 Bolt =

{#R Middle Bracketi&&HhJ (Option)

FF Side BracketZ JaARBEZ4E Bar Soft X-Ray lonizerfitt/5. i&FIF Middle Bracket
ks, B Middle Bracketfd, R M4 BoltEE.

i BRIk i Middle Bracket

s = e :
L M4 Bolt L m4Bolt £ M4 Bolt
X % Bar Soft X-Ray lonizerBS{#F Middle Bracketi:Z¥E
Model Middle Bracket QTY
N\‘\/’" SXB-05NRI-600 ~1800 2ea
Middle Bracket SXB-05NRI-2200 ~ 2800 3ea
> BlRiE
IR E
BESEN TENEE R RIS,
100 £ v | #8 [ BEmm
3
75 < ® sus Over 0.2
H H (o))
10 P— b /8 . R é ® | Aluminium | Over0.25
25| /4 [y YA L & ® Glass Over 0.5
0 3 i ; | @ PVC Over 0.6
0.0001 0.001 0.01 0.1 1 10 :
Thickniss(mm) ® Acrylic Over 5.0
A warniNG * PTERENEZLRGER XENTH—ERBZEER.
* BIZIE InterlockdFBEHAOITER. 1BIHTFEMELR XE,

> RERRIARE Output Cable - Bar Soft X-Ray lonizer

BEENTREDNE.

SRS RES 1uSv/hriUT. nterock ~[]- shield Dgor
(BRBEIRERE, MEE : 1uSv/hn) ) Shield
Controller - J—'

O HEFF

* FFEREAREE. SHPIEXAREIR SR,

DVRRNNG | e s, xR,

> 4R
RIS mHATEN Bar Soft X-Ray lonizerfy TubeiE3E,



04

it Tube
TubelXBI T2/ T (%R, WS EEE Tube,

* EETube NEIRE RIS, SSMMRE. B, KRATE,

* TubeTAVRISF-4EME. THFRAEMA TubeR SHIRGRIE.

* TubefE ConnectorG3etiERsy. AR TRELLRIR,
BHEERIREA. MEAANHSHELRIFREN Connector,

© CAUTION | * EIREHEE tubefl Head kR FREMRMIEE,
FRIERNERS SIS,

* HFESMERERRRSRLE, SRERENEIRTR
ERZALARERARSE SRR R,

* BIE TubelMISZSMERAVFRBL, SEHIE. M. KRR,

@ BFEIE TubelBzt
+FI24 B TubeEEIR4L LT RIS F R FF

@ TubehiEis
FIFTubeERIZIRIE, ERTube TiEs.

® $E Tube
B Tubem THIHE.
RFFTube RRTHRET ELATAKR.

@ 484 Tube
HAFTubelNBEERRAERE, REESABNGREMEE,

< TubeliEst >

< 98 Tube >

X {5&H TubefF, 7EController Hi&1T Tube Reset,
KT ResetfbFERY, SEIRAY TubeTiEREHN

O BRI

> EIEHIRRIRARIRE
3 REIE AR
SRR IR R,
- S — AR,
FEFUME | REEEELEMSE A 100, 240 20/60110)
BHBRESRTRREER FreaRAL

05

FERAENE

LEDEREENF LEDRERNT?

Fuse2BHML? FRIFARER Fuse,
Bar Soft X-Ray lonizerfl) Tube X 2E =T TS TubesEssia,

£ Remote OffiRZ?

R4 [Remote iR%E] TERAEF
Remote Off,

27 Interlock Offik7S?

14 [nterlock 152 TEMIT
Interlock On,

FSIRBERLE| \LESENESLITFREEHR?

BEAGIREERREIRIL.

RaE?

1RiE [EREMAIREIR] B

UATERR T kb,
IR SERI R —
AHAST CableREBMETERA? gggjﬁgﬁgﬁ
HhmE
» Bar soft X-ray lonizer (SXB-O5NRI Series)
{Top >
| |
EF W 4‘> % ﬁﬁﬁ 18
< Front » 2‘ |
| m| | O
: H—
|
& \

< Bottom )

Outlet Air Tube
Connection Port

Inlet Air Tube
Connection Port

Air Tube Connection Port
(Air Tube 0.D.)

< Side > S Standard (Inch) 1/4"
Em@ g;o Option (Metric) 6mm
30.0
71.8
No. MODEL No. 8] B |TuBeQTY
1 SXB-05NRI-300-1 314 | 335 | 364 o 1
2 SXB-05NRI-600-2 625 | 646 | 675 2
3 SXB-05NRI-900-3 936 | 957 | 986 3
4 SXB-05NRI-1200-4 1247 | 1268 | 1297 4
5 SXB-05NRI-1500-5 1558 | 1579 | 1608 | 311 5
6 SXB-05NRI-1800-6 1869 | 1890 | 1919 6
7 SXB-05NRI-2200-7 2180 | 2201 | 2230 7
8 SXB-05NRI-2500-8 2491 | 2512 | 2541 8
9 SXB-05NRI-2800-9 2802 | 2823 | 2852 9

X 3EFFAIr Tube Connection PortE71/4"Inchiiig, (BUERE, thalfEmEE

prici=S

06

» Middle Bracket
30.0

=
8
X B ORI RIBEEFIERATIANE.
» Boost Module (Option)
{Top > {Bottom >
== I———
—

{ Front »

1/4-20 UNC 650 360 i

e B 325 < Side >
2-M4X0.7
ST 0 0L
of 38 () ®
g ~
137.0 | 29.8 \
149.6 33.9
Parameter Description / Value
lon Generation Method Soft X-ray
Source Soft X-ray Tube
Tube Voltage 4.9kV
Beam Angle 150°
Power Consumption (with Controller) Max. 150W

Operation Circumstance 0C ~ +50C(32°F ~ 122°F), 35% ~ 85% RH
SXC-10BT/ SXC-10BL &
(Bl R A RE IR ER)

Warranty 1 year

#* NTFRYRIER. FTEEAERIER. TREEr = REsMIURIAE.

S UﬂJG Electrostatics

] Head Office & Factory (Busan)
8 Cheonggwang-gil, ligwang-Myeon,
Gijang-Gun, Busan, Korea
T) +82-51-720-7500  F) +82-51-720-7501

Controller

www.sunstat.com

] Sunje Japan Co,, Ltd.
Dai 7 Matsuya Bldg 10F 1005 2-23, Honmachibashi,
Chuo-ku, Osaka, Japan
T) +81-6-6949-5001  F) +81-6-6949-5011

] Sales Headquarter (Osan) ] Sunje (SHANGHAI) Trading Co.,Ltd.
795 Naesammi-dong, Osan-si, Gyeonggi-do, Block C, 4F, No.482, Hongxu Road, Minhang District,
Korea Shanghai, China
T) +82-31-203-9034  F) +82-31-202-9034 T) +86-21-5433-9761 F) +86-21-5433-9762

Customer Center +82-70-7714-9033
Sales Contact +82-31-203-9034

] Sunje Technology Co., Ltd.
2F, No.6, Lane.102, Sinhe Rd, Sinfong Township,
Hsinchu County, Taiwan 30472
T) +886-3-568-7891  F) +886-3-568-7950

Copyright 2022. SUNJE Hi-Tek Co., Ltd. All Rights Reserved. ‘Dl Hidden Champion 100

Materials-ComponentsEquipment



